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Lngineering 2017

Moeen asked Al "Could you kend me 3 bundred
repees until tomormow?™

ia) Moeen asked Ah whether he could lend him a
hundred rupees until lomomow,

(b} Moecen asked Al whether be could lend him a
bundred rupees unial the next day

() Moeen asked Ali whether he could lend me 2
hundred rupees until the next day.

{d) Mocen asked Al whether he could lend a bundred
rupees until the next day.

For the function

Aa p)z =xmm(

i It

—{l.L=)=

' 2

2 ¢ B
@< w 2 () ®m @)

For a continuous function f{.)on [a, b] the
approximate root lies in the interval [c, blif

{a) /{.r}) has opposiic signs stx =a x=b

(b} /l.r) has opposite signsat x=a x=¢

() /{.r) has oppositc signs al x =a x=h
(d) /L.r) has opposite signs st x =¢ x=h

For 1= + ¢ the equation of onhogonal imjectory
(T4

”[TJ o =t )

o wnd)

() Operating life for fuel cell s unlimited

(b} Electrode in foel cell may be porons solid and
may contain catalyst

i) The fuel in fuel cell can be gas, liguid, solid or
silution

(d) In fuel cell the cell products cannot be regenerated

Which clement has the highest 2™ ionization energy?

(a) 5r ibl Li el Mg idl Ca
The equilibrum constant for the FProtolysis of
ammaonium jon,

@ y=1dr|c

Choivie the wrong stalement,

10.

13

(A2, wtr 054 N+ 57 ) s 5.6x107"° m

155" The Jﬂﬂu! 1.0 .4s .'P?ﬂf?mlu[itm is closel
I which of the following.

(2] @ by 7 el § {dd

Which condition must apply fior the work done by an
expanding gas o be /FA S, where p is the pressine
of the gas and A /s its change in volume?

{a] No thermal energy must be supplied to the gns

(b] The expansion must be ol o constan) rale,

ic] The pressure must be constant

{d) The temperature of the gas musi be constant
Domain of F(t) =263+t 'k is

{a] Set of all values of 1

(b) Forall t exceptt = 0

ic] Forall t except t=10

(d) Set of al real nimbers

Which of the following i= an tonic oxide?
|I - 5

(a] il (b) Zac? (c) € (d) 4G

A solution (L1 M i HyCO, and 0.1 M wn NaHCO, is

made. The pH of the resulting solution should be
closest o

Note: H,CO, Pka =637

(81637 (b)4.35  (c)6.28 (d) 7.37

Most solution s containing ferric som are wsunlly
vellow or  yellowish brown, this & due to the
formation of

[Fe(#.0),]" s [ Fed #.0), 00]"

oA, o ][40, o8]

A student kept her 60Watt and 120voll study lamp
turned on from 2:00PM wntl 2:00 AM. How muny
coulombs of charge went through in?

(o] 3600 (b} 7200 (c) 1KOO0 (d) 21600
Solenoid B has the rwice rofins amd six time the

number of lums per unil lenpth as solenoid A. The
ratio of the magnetic Hield i the intenor of B 1o that

in the interior of A is:
NE] (c) 6 (d |

As a loop of wire with a resistance of 100 moves in

{a] 2

a constant non uniform magnetic field. It loses KLE at
a uniform mmile of 4.0 ""’f_;_, the induced current in the
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16,

17.

19.

loop is :

(a) 0 (b] 2mA (c) 2 EmA {d] 20mA
Which of the following is not an adjective?

{b) Intelligent

{d] Honest

{a) Bravery
(c) Beauriful

d 1
E_I:[lh l.r) =;faﬂnj rr=

L
(a) ¥

() rlna_1 i rin.r_.r

Plancts travel paths
{a) Corcular {b) Parabolic
(e} Elliptical {d] Hyperbolic

Equation of the tangent 1o the circle »* + y* =2’ m
peint (x,, yu) is given by

an=a1;=0 L+ =a

(a) 1 - ibl

IGF=a = a

(c)
If measure of the central of a minor arc 5 O the
measure of the angle subtended by the comesponding
major are s

S 2 r 4
@20 (= () — =
2 2 2

Which of the following ts an acid?

() OF ) P17, (c) HCO:

Consider the following reaction

() S

When Kpat S00K is 085 | what will be the value of
K.c at the same temperature

0.85 . (.82
ih) A=
0.82x500 0.85x500

0. 8
0.82 0.82

What is the relative mtes of diffusion of equal volume
1

(500 ¢m ) of hydrogen and oxypgen under same
condition of temperature and pressure?

(b1 B (e) l&:1id) X1

(a) A=

(a) 4:1

Monochromatic green light of wave kength 5x 107
illuminates a pair of slits Imm apan the separation of
bright lincs on the interference pattern formed on a
screen 2m away s

(2) 0.25m (b] 0. lmm (<} 1.0mm {d) 0.01m
There are two charges cach ol 5‘[;.{‘[11: ratio of the

26,

.

2B.

30,

il

ji

force acting on them will be
(a] 1225 (b) 1% {c] D21 (d)5:10
In the MLE_S system of units £gequal

.l

le
I'I'I .l'll‘f'_ mz

() 9A0 *Nid
I 17
cl Tl (d —
4m9 40 *\ Awf 9%10 N
There s a current of 3.2 amp in a conductor. The
I}'i".,"if&'[tﬂﬁ'ﬁf’]’ﬁ',’h‘ Illt:gtlgmsdalj___r?r seehion normal 1o
(a] {h} 'I]...."'!]ﬂ“

@ 20x10" 5 200x10"

The exampl: of a non-ohmic resistance s

{

2x10"

{b} Carbon resistance

fc] Copperwire  (d) Diode

The feminine of MILKMAN i

{a] Milkeirl {b} hilkmad

{e] Milkwoman  {d) Milklady

If an equation invelve the derivative of dependent
variable ol one independent variable |, ix called

(a] Ge-resistance

(a] Crrdinary dilTerential equation
{b} Fanmal differential equation
(<] Integral cguation

{d) Parmal mtegro-diffrential cquaiion

F=X+ A solution of the D.E
dr_
(2] di+dr=0 (b) 2¥
ﬂI=:| ﬂﬁ—,= f
(<] ar {d}

If slope of the family of curved f'(.l’._l'.t".]fm the

ey ¥ x
equation 1"+ 3” = s [——]lhzn slope of the
Ji
orthogonal Trmjectory of the sccond  Tamaly
Gy ¢ 2 )is
r I r !
(al— (b} —— el = ({d1—
¥ ¥ T I

Seleet the electronie configuration which can form
eaily -3 oaidation stat:

@ 1ELIXSA 190 INSA
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34,

15,

36,

7.

38,

39.

41,

@ 1525727

@ \SSEITSA P AP

Steam of chlorine B passed over heated sulphur and
form an orange colored foul smelling hiqud having
formula :

(a) ST, ) 87
[:hﬂff (d) Mixture of Il"_'".i';and -5;57;
Seleet the one having half- filled I orbital’s on losing
an electron:

(a) MNitrogen ib) Lithium

(e} Oxygen {d) Fluorine

What is not gonserved in nuclear processea?
(a) Charge (h) momentum

(¢} The wotal rumber ol neutron

{d} The total number of nucleons

What behavior is the copper exhibating?

{a) Bnttle only {b) Elastic onky

(c) Mastic only (d] Both {a) & (b)
The orbital velocity 'v" and the radius °r" of the
satellite are related by

1 1 1
(a) yexr (b) y@=(c) ra= () va
¥

r r

Katherme made her children chores on
Sunday
{a) make some ib) take some
(c) do some {d) does some

1 2

1.2 .3

6! 7' B

(O 5

s 8 ) 2

ic) E

The ohjective Tunction in a lincar programming is
usually denoled by

(a) Alnr)=ar

by Sl 1 =arxbvabel
(€ v ) € dr

(dy Slr )= ar+ by+ e

Mon-ncgative consiraints in a Linear problem is given
by

2) >0, r<0 20,240

{
te) =0, =0

ib)
() =0, <0

41,

4.

45

46,

47.

48,

49,

50.

5L

j1

A,

Magnesium metal burn in air, the product form is

(2] e {b) Al

(e] A id] Both (a) and (h)

Complexes existy in variows coordination numbers,

choose the coordination number which s lews
EOmIman.

(a] 2 )4 ({c)5 (dy6e
Choose the maneral which s not of chromium

{a] Chromie rons stone [b] Chrome ochre

(] Cordite {d] Chalepadite
The diode is used as,;

(a] A modulator (b} An amplificr
1] A rectifier {d} An escillintor

A photen of frequency / has o momenium associated
with it il C is the veloeity of light this momentum is:

i

(31 & (bW (0 — (=%
b W . 2

The numerical ratio of displacement to distance is:
{a] Always kess than one

{b) Always equal lo one

(e] Always more than one

{d) Equal to or less than one

The synonym for the word "ANIMOSITYSIS:

(3] Powerful {b) Hatred

{e] Hatful {d) Quarrelsome

o d—p IJ
(6r)o-11( ) xw T rTh
@is - @- - -
Depree of  the homogenous function

Xty
Sy Y,
T+ )

! b) Z * () -=

{al (b) Zero (c) 3 (d)—3

Mumcrical method are used for solution of:
(al Lincar equation {b) Quadratic equation

(c] Cubic equation {d] Nondincar equation
Compouends of vanadium exisls mm the following
oxidation stntes 5+, 4+, 3+, 2+ The compounds in the

3+ and 2+ axidation states behave as
(3] Gioedd exadrring agent ) Good reducing ngent

(¢] Weak oxidizing agent
Choose  the

A’;[Fx‘(’"{]

comecl name of the complex
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35.

36,

7.

58.

59,

6.

al,

{n) Potassium hexa chloroplatinum (1V)

i b} Potassium hoxa chloroplatinate (V)

(c) Potassium hexa chloropalatinae (1Y)

(d} Potassium chloro platimale

Choosc the least stable of the following butenes:
(a) | -Butene (b] Ci5 - 2 - Butene

{c) Trans-2-hutene (d] Iso butylene

Seleet the wrong statement about adsomption .

{a) The phenomenon of accumulation of molecules of
a gas or liquid at the solid surface is called
adsomtion,

(b} The pricess of sdsomption is seleetive in nature.

() Adsarption in general increases with increase in
lempernture.

(d) Adsorption on solid is reversible in nature
Select an incorrect statement aboul collides.

(a) Colloidal particles camry charges
(b) Adduion of clectrolyies coagulates the solution

() Every substance can be made to behave like
lyphobic colludes

(d) Every solid substance can be brought 10 colloidal
slalc

Aproton is about 1840 umes heavier than an electron
When it bs aceelerated by o polential difeerence of |

KV, it kinetic encrgy will be:

1
AT

(e} | keV ) 920 keV
Charge i distribuited uniformily on the wrfacde of
large Mat plate. The electncal held 2em from the plate

(a) 1640 keV

r

4
is 10 = Whnt ix the clecirical hicld at 4cm from

[
the plate.
N N N WV

(0120 € M3 € (15 € (715 €
Two identical capacitor each with capacitance C,
are connceted in purallel and the combmation is

connected in series to a third identical cavacitor.
The equivalent copacitance of this arangement is

2

]

Maila hay Iwo

b} ¢ {ch2c id) 3¢

{a) Sister«inslows  (b] Sislers-in-law
(c) Siatersin-law’s  (d] Sister'ssin-law
Graph of the fumction ¥ = sin x over the mterval

(0.2 x) micrsects the x = axis at

4

[}

65

6.

67,

GR,

69,

{a] Ome poart {b)} Two pomis

{e] Three points  {d] Infinite points

Which of the following cxpresses periodic property
) sin(=0)==in 0

() sin(ﬂﬂ JT:l!il’I. 0

(c) sin(@=rx)==in O

(d) sin(x=&)=sin @

The people

frg always succeed.
The un

himncd part of the sentence is

(b} Phrase
(<] Defining clauses (d] Adjective clausc

In the equation 4px = y*, il p > 0, then the parabola is
symimetric with respect Lo

(2] Non defining clause

(a] Negative X-axis |b] Positive Y-axis
(c] Postiive X-axis (d) X-oxis
In the horizonl  dlipse i foci are Fy(h =
¢, k)and Fy(h4e k) , then its standard equation is
give by
2 5

(3] — 45— =]

A

T oy 412
b (.r-¥( s T -l

a’ A
1 1
le] {-L;ifi‘—++n;f‘-=]
W IETIVE
{d £ -1:{ + 2t =

o F.3
In translation of axi

{a] Dircetion ol axes changing
() Crrigin is changing
(c] Both axes and srein are changing

(4] Axes are changing through some angle

A sample containing copper weighing 10.0g yickd
20g of copper sulphide. What is the percemt of
copper {amu Cu = 61,54} in the sample,

- b |
(a] I 0= (b 20x2=H3.54 21K
160 10, 95.60
el =456 20x63.4x100
10x2 =43 54 10=95 60

Solubility of non«palar solute in non-polar solvent is
because of:

(2] Their same molecular sizes

b} Large differcnce in molecular sizes of solute and
sulvent
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7.

4.

75.

6.

TH.

i) Weak van der Wanl"s forces ol solvent and solute
particles

(d) Both (n) & ic)

An X-ray photon due 1o transition from M-shell to the

vacancy in the k-shell is called:

() K a chamctenstic of X-rmy

(b) K f characteristic of X-ray

il K ¥ chamctenstic of X-ray

(d) K characteristic of X-ray

Which of the following s comect?

() Amle=———— (bliowcde =edt >amprere
b

<) Am&-r—lt-'-ﬁ—-— () Sosaler = enalermdd = verd
ey

A spring is stretched by 5 em. Its potential energy is
E. If it is stretched by 10 cm. is potential energy will
be:
{a) 2E ibl4E ic)SE (d) I6E
Hussain  suffor from  no
capabilitics
ia) Daubis (b)) Hallucinations
(<) Musion(d) | maginations

[H‘ir « | jFir :n]
f[r].l.l[:-.r'].y.r,.u]
I - V=0 ) henif f]2)=5 4=

about  his

5 -5
'b - m—
ib] 1 (e] 3
A cong is 9 cm high and has a vertical angle of 60"
then the diameter of its base is:

W3 a3 @95 s

In any equilateral triangle the ramon 1 : 2 : 3 holds for

(alrir: R blr:R:r
jchrirg: R fdirg:R:r
Calculate E* cell from the half<cell reactions:

im} 0 id)s

Zn_Zn, e E 076 vor
e © =+0.76¢
(" +@TE ‘=3 034

(a) 100w (b) 120% () LOv (d) | 40v

Alkali metals ime “Rb™ & “Cs™ caich fire in air and
produce superoxide such as:

(a) RabyO & Cs,0 (b) RbOx& Cs0,

() RbO & CsO id] RbO:& Cs0

15

Hi.

i

LES

w4

LR

#n.

BT

Which of the following is amphoteric | nature;

(a) MgO  (b) VeO (¢) KO (d) CaO

Two springs of spring constant k; and k; are streiched
by the same force, They are stretched by x; a3
respectively, if K> K; then:

(alx=x; )% >x; (elx <

id) Depends on the length of the spring

Equation of a line parallel 1o Negative ¥ - axis at a
distance b units to the left of y = nxis s given by:
(alx=h (bix=:d (c)y+b=0 (dy=:b

The point pix,, ¥,) lics above the line ax + by + ¢ =10,
If

(3] ax; + by, +e=0,b=0
fblnl.-!-hy.-l-r?llh{ﬂ
fc]ax; +byy +c>0,b>0

Idlu|+hy1+|:'ﬂl]. b>=0

The following dynamics equilibrium exist between

" lons insolution Cred™ E="f}1q."
{a] Equilibrium shifts to the right

(b) ¢ryeg™ B decomposed 0 o™

(¢] Equilibrium remains unaffected

id) Equalibrium shifis 1o the left

EWm following clectronic configuration isfare
L Chy, [or |#d3 "

i TTltr & W

i, Fo ] 44457374

{a] | only (h) | & & oaly

(] i i only (d) | & iid only

Select completely immiscible pair of Hquids:
(a] Phonol-water system

{b] Trimethylamine and waler systen

{c] Carbon disulphide and water system

(d) Ethanol and water system
:
If the 100y mass having 32fsec then its force is

{a] 320 b [(b)9.8 N

(€] 320 dyne {d} none of the above

The uncerainty in position of an clectron in a certain
state i Sx10""m the uncenainty in its

momentim might be
(3l S.0x10** kg mifs (b) 4.0x10 kg m/s

(€] 10x10"* kg m/s (d) 1.5x10"" kg m/
When o hydrogen stom makes the transition from the
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91.

93,

95,

97,

9.

scoond cxcited state o the ground state (at-13.6cv)
the encrgy of the photon cmitied is

(a) 1.5ev (h) %.lev (¢) 12.0ev (d] 1D 2ev

The plural of LOUSE is:

{a) Lices (b) Lice
What is a proton?
(2} A hadron

(b} A panticle consisting of two down quarks and one
up quark

(<) Louses {d) Lyces

(e} A positive fndamenial partcle

(d} A positive leplon

What is commeet for all mansverse waves?
{a) They all involve the oscillation of atoms
(b} They can all be polarized

() They can all ravel throueh a vacuum
(d) Both {a) & (b} are comect

lalways  defy any authoritarianism
(2) have and always will (b) have and will

(e} have defied and always will

(d) haven®t but will

In factonal term nin-1) (n-2] can be wnitten as

| L {n=1))
(a) ' (b) )y

d) (n-2)
o) (d) (n-2)

Wgﬁwn mio of the geometric sequence (2= 2

@2 (b3 ©; -3
(T (I |
£ B
9 | 1
VZ {h) e () = (] —
(a) Zero 0 L~ 3 10
How many grams of (M), SEi6/,0be

dissolved in S00cm’ of distilled water 10 get 0.1 47
solution? { Mlocnder mce of Ak v slar &5 70
(2)392s  (b) 3.928 () 1962 (d) 1 962

According lo lransition slale theory the reacting
molecules form some kind of hypothetical structure

that loses,
1. The smucmre

ii. The ability to rotate

fii. The ability to vibrae

Choose the correct option:

() ifii (b)iid @ (e)idiil (d) Lil& i@
Dimethyl glyoxime is used for e preparation of:

{2) Cu™ jons (b)Co ¥ (c)Ni ¥ (d)Fe ™

104,

101.

102,

103,

104,

105.

106,

107,

108.

A sequenge is a function whose domain is

(2] Real numbers (b)) Matural numbers

{¢] Integers {d) Positive

Choose the suitable catalyst for the following the
reaction; AMXALICT— RO+ .0

{al .Jfﬂ'! tb] ZnCl s () 7Y (d] Fe{"{
500 em’ of a KOH solution is titrated to the

phenolphthalein end point with 750 em’ of 1.0 M
HCL The concentration of KOH

fa] 758 (b) 055 (ch 015N (d) 155
Dicthyl ether react with Aceryl chloride in presence
in presence of anhydrous Zncly 1o form:

i (i)
(a) | ™
C ol o & g i A PG w0 TR N AT

() G4 COLC 4 T
(d}) none of the above
A fireman wants to shide down 8 rope. The breaking

3
strength for the rope is 1 of the weight of the man

with what mummum acceleration should the fireman
shde down

111}55 lhl}ig [ﬂ%g

A ball 15 projected upwards, Its poccleration ol the
highest point 1s:

{d} Zero

{a] Zero {b) Dirccted upwards

{c] Directed downwarnd

(d) Can't be predicted

A projectile is projected with a kinetic energy K its
range is B. il will have minimum kinetic energy afler

covering a horizontal distance equal 1o

{a] 0.25R (B)O.5R {c)0D.75R (diR

The emperor his kmgship and become
a hormit.

{al abohshed {b) abated

{c] abdicated {d} abandoned

Choose the cormect senlence:
{a] Brazil is a populouws country; the beache’s are
warnm sandy nnd spotless clean,

(b} Rearil is a populous couniry; the beaches are
warm. sandy and spotlessly clean

{c] Brazl is a populous country, the beaches are
warm sandy and spoilessly elean

{d) Brazil is a populous; country the beaches are
warm, sandy and spotlessly clean
By means of numencal procedure we obtam:
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104,

110.

113.

114,

116,

117.

(a) Actual solution (b] Exact sohition

() Approximate sohution

{d} Specific solution

Newton Raphson's method is:

{a) Two points iterative

(b) One point fierative

() Many pomis nerative

(d) Infimte point flerative

By Trapezoidal Rule betier approximate can be
obtained if, The value of {Trapezoids n)

(2) Small (b) Large {c] Zero (d] Undelined
Molality of 107 whw NaOH solution is

(a) 1.5m (b) 2.0m(c) 2 im(d) 3 5m

If the foree of anraction exists between the particles
of disperscd phase and the dispersion medium terms
the Sol is called:

(a) Lyophilic {b) Lyophobic

{c) Hydrophihe  {d) Hydrophaobic

The reaction between peroxodsulphate ons and
iodide below:
27 A2SEBYLIT 4,

ions is El\"!‘l.'l

l’ a 'l'. -
(a) M7 (b) F &
(dy Fet
A man of mass 60 kg climbs up a 20 m long staircase
1o the top of a building 10 m high., What is the work
done by him: Take =10 ms~
{a) 12 K] (By6KJ (e)IK]
{d) Mone the above
When 2 force retards the motion of a body the work
done is:

(c) F&'

(a) Zero

() Pasitive  (d) +ve or =ve depending upon the
magnitide of force and displacement

{b] Negntive

o
CH, - || -OOND, is the formula of:
[

(a) PAN {b] Smog

ic) Ozone {d) Chlorofluro carbons

Two copper wires S ond T of equal lenoth are
connected in parallel A potential difference is
applied acrous the ends of this parallel amangement.
Wire 5 has a diamcter of 3.0 mm. Wire T has a
diameter of 1.5 mm What & the value of the matio

curraenl in l'..,

current in§

(d)4

® Y @2

(@ /g

119

120.

124,

126,

A pedal bieyele s fitted with an electne motor. The
rider swilches on the molor for a tme of 3.0 minuies.
A constant current of 3.9 in the electric motor is
provided from a battery with o terminal voltage of 24
Y. What s the energy supplicd by the batiery?

(al B4 (h) 250) (c] 6300 (d) 150000

A sound wave has a speed of 330 mfs and a
frequency of 50 Hz. What s a possible distance
berween two points on the wave that have a phase
difference of 60° 7

0.0dm (b} l.lm (¢)2.2m d) f5.6im
:]uplc claim T!l:r ].uull!-lcn ms{pt!‘l i several
citics.

{a] The suspect was elaimed 1o be seen by the people
in scveral citics,

(b) The suspect i claimed (o have been seen in
scveral cities.

{c] The suspect has claimed to be seen by the people
im several cities.

{d) The suspect is being claimed 1o be scen in several
citics by the people.
2 2
The asymploics of the hyperbala Lj —*;..—J = |is
g

given by
Il a
(2l y=t gr {b) y=s pr
£ a
fc] y=%=ur {d) y=2=ur
g e

aefy-+b psinrafr =0iv

{a] Linear differential equation

{b) Homogenecous differential equation
(e] Separable differential equation

{d) Nan Separahle differenatial equation

i

(£+1)

@& OK @)= ) ——
i £+l

If A and B are disjoint events, then P {A LU {B)=
(I P{A)+T (B} (b FAFPBI=PLANB)

rl-l'.l”ll
el P{AYUM{B) (d) e
()=
@ »meE" @i (4 ()

Adipic ooad react with dimethylier thalate o form
condensation polymer:
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128,

129,

130.

131,

133,

134,

135

136.

137,

(2) Nylon-68 ib) Dacron
(e) Teflon (d] Bylon-6,6

el
K- OO .lr;lﬂ-'"f:ﬂf Na, OO,
The above relabon i known as:

{a) Carboxylation

(e} Neutralzanion

ih) Decarbxylation

{d) Reduction
1.3-Dihydroxyhenzene is also known as:

(2) Catchal {B) Resorcingl

{c) Hydroqunire  {d) Cresol

Two bodics of mass m and 4 m ame moving with
equal kinetic encrgies. The miio of their Tmear
maomentum will be:

(a) 14 (B4 (e 12 qd) 21

The kinetic energy  of 2 body of mass | ke and
momentum 2Ns is equal to:

(2) 11 (bl 101 (e)1 8] d) 21

A man of mass ™) kg is standing in an clevator whose
cablc broke suddenly . il the clevator falls freely . the
force exerted by the floor on the man is :

(a) Zero  (b) 90x9.8N  (c] 90 N(d) 20V
Silver neeylide in dry condition is hiphly explosive, it
reacts with nitrie acid o form:

{a) Sliver oaide, carbon dioxide and water

(b} Silver nitrate and ethyne

() Silver mitrate cthane

(d) Silver nitrate and carbon dionide

Food anicle speiling mvolves oxdation reduction
processes, o prevent this reaction we usually add
preservative which act as:

{2} An oxidizing agent (b) A reducing agent

(c) An acidid) A base

The vector P makes 120" with x-axis and the vector Q
makes 30" with y.axis, their resultant is:

(A} th) P=-0Q

@fPI+E W fPT-@7

A cor travels o distance 5 on a strmight! road in 2 houns

and then returms to the starting point in the next
Jhour. lis averape velocity is:

,
:hl'—: lcl§+§ {d) zero

When we kick a stone, we get hurt it happens due 1o:
(a) Inertia (b) Velocity

ic) Reaction {d)] Momentum

The antonym for the word *ACQUIT" is:

5
=
g

134,

139,

(E]1

142

143,

144.

145.

146.

{a] Retreat (b) Coanvict

{c] Conceal {d} Deprive

For two vector & and B it holds that &h =|a| |§| cod
O then it holds @) = vVa a I‘n.mt'.ﬁ:!fr if and only if

{a] When d and b are parallel
(b) When d and b are perpendicular
() When @ and b are in the oppesite direction

{d) When @ and b arc parallel but epposite direction
w =12

The 3 term of the expression P
e -
{a] 3 ik 33 (dil
The anzular momentum of a wheel change from 2L
to SLin 3 seconds, The magnitude of the lorque acting
on it is:
L L
lh}; ()7 WL

If a sphere is rolling, the ratio of its rotational encrgy
lo otal energy s given by :

(215

(2] 7:10  (b) 2:5 ()17 (d) 2:7
The angular veloeity of a second hand m watch is :
Gl i (@2

She saud “1 passed the exammation long apo ™
{a] She said that she had passcd the examination Jong
ago

{b) She said that she had passed the examination long
before.

(c] She tuld she had passed the examination lang
before

{d} She asked that she had passed the examination
long ago {b) {c) (dy

iy =cose "¢ Fhen —ﬁ-.=
v

&t -
O "TEa
_H e N
{c] m {d} m

Let frdbe a differentiable function on {a, b) il then if
grd is stncily decreasing on (a, b if

(2] (0)>0 forac <) (D)< foracach
(c] L(N=0 fora< r<bid) (020 fora<x<d
If fivhas a critical value at x = ¢ ie /{c)=0and
S()=0cxists on (a

S (=0 provided that

bl contaimng € then

Scanned with CamScanner



147,

148,

149,

150.

151,

153.

154,

ia) Function has maximum value ai x = ¢

ih) Funciion has a minimum valuc ai x = ¢

() Function [as no muism valie of miirmum a1 x = ¢
{d) Funciion is undefined aix = ¢

Silver mirror s given by :

(a) Aldchyde |b] Ketone (c] Ethers

The carbonyl group of carboxylic acid do not exhibit
the choracternlics reaction of aldehyde and kcotone
duc 1o :

(a) The C of carboxyl is less positive

ih} The C of carboxy] w more positive

(e} The C of Kelone is less positive

{d) Docs pot depend on C atom
] u
Z=fixry)= —-]LJ:: y' is homogeneous of
degree
()0 (Bl (€5
Blue baby syndrome is coused due to:
{2} A phosphate in dicts
(b} Chlorotes in dicts

ic) Excessive nitraie in diets
(d) Deficicney ol nitrate
Select the IUPAC name of the following compound.
CHYOCH2CH

(a) Methoxy cthane

(b} Ethyl metyl cther

() Methyl ethyl ether

{d} Ethoxy methane

Which polyatomic anion is unsiable?
(a) K& by 12 (o) S,

Which statement is not vahd?

) e

{a) Curreni is the speed of the charged particles that
canmy iL

(b} Electromotive foree deae /7 is the encrgy
converted to electrical encrgy from other forms per
unit charge.

() The potential difference ge /Aof between two points
is the work done per unit charge when moving
charge from one paint to another.

(d) The resistance betwean two points is the g2/
between the two points per unil current

Which pair ¢ontains one veclor and one scalar
quarniry?

(3) Displacement acceleration

{h) Force kanchic encrgy

(<} Momentum velocity

155.

157.

154.

159,

160.

161.

162

(d) Power speed

A man standing next to o ststionnry train hears sound
of frequency 400 1z emilted from the train’s hom,
The tram then moves directly away from the man and
sounds its horn when it has a speed of 50 ms™'. The
speed of sound s 340 m s™'. What is the difference in
frequency of the sound heard by the man on the twao
occasions?

(a] 511z (b 6%Hz (c) 349Hz {d) 46911z
Nylon (6,6) six earbon alom in each monomer is the
example of,

(2] Addition polymers

{b) Substitution polymers

{e] Condensation polymers

(4} Condensation monomers

Angular momentum has the same unit as:

(3] Impulse x distance

{b) Linear momentum x time

fc] Work x frequency

(d}] Power x time

Twao particle having mass M and m are moving in a
circular path having radius R and e il their time
period are same . then the rabio of therr angular
velocity will be:

- Fi's

@ X @ @ (£
'J,.

Which equation represents [l + decay?

(3] Nevtron—s proton +poaitron +antimcutring

{b) Mewtron — proton + posilron + noutnno

{¢] Proton — proton 4+ neutron4 antineutring

(d} Proton + neutront positron + neutnno

To have an old head on young shoulders’ means:

{a] To be wiser than onc’s ape

{b) To be young b appear old

{c] To have low I()

(d) To be old but appear young

The equation of directrix for the parabola 1* =—4 or
is

(a] y==p (by=p

(c] x==p {dix=p

The angle of the langent line .r—» = #1oa curve y =/
frlis

{21 30" (k) 45% {(c)BO0" (d1D
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163.

164,

165,

166,

167.

168,

169.

170

171,

173.

The line 2r =y + ¢ = £ will touch the ellipse %+
¥t .
o = lifc=

(a) 4 (b1 %7 () X9 (d) %11
Polyester resin-polyurcthane resin i:

(a) Hetadhesive (b)) Multipart adbesive
() One ant adhesive (d) Contact adhesive
What is the colour of oxidizing smog:

(a) Reddish brownish gray

(b} Blush brownish gray

(c) Brownish gray  (d) Yellow

Carbonylic acid react with ammaonia
ammonium salts which on heating produces:

I form

() Cay  (h) Alkane {c] Ester {d) Acctamide
For a body moving with constomt speed in a2
horizonial eirele, which of the following remains

constant:
(2) Velogity () Centripetal furce

(c] Acceleration  (d) Kinenic encrgy
ITa gymnast siltmg on a rotating stool with hiv arma

oulstretched suddenly lowers his hands:
() The angular velocity decreases
(b} His moment of velocity decreases

() The angular velocity stays constanl
(d) The anpular momentum increase

The unit of gravitational potential is
iB) Joule / kilozram
(e} Joule kilogram {d) Kilogram

{a}) Joule

Do not disturh him for nothing,

{a) Let not he be disturbed for nothing

(b} He is not 1o be disiurbed for nothing

(e} Nobody should disturh him for nothing

(d) We should not disturh him for nothing

Let G () = Ti= (¢t + I]*]f+t_1i- the Domain of
the vector function (t) s

(a) Al valuc of 1

(b)Y Only non-negative value of 1

(e} All positive values of

(d) All values except 1 =0
The order of steepness of lines Lyy—x43=

0,1, iy= i:—s,t 3iy = 03x + Gis

(a) Ly, La, Ly (b) Lg. Ly, Ly
':-E] L!. I..:.. L: ‘L” 'Ll" L!.LI
The point A {4.5) is above the line:

174,

175.

174,

174.

1.

181.

1R,

1R},

(2] 3z=Ty=15=0

{b) 3Ix=Ty+15=0

{c] Ix47y=15=0

{d) 3x+7y+15=0

Solvent dyes are also known as;

(2] Spinit - soluble dyes

{b) Ether = soluble dyes

(2] Direct dyes {d) Basic dyes

Light naphitha contain hexone & heptane is oblained
in the hoiling range of

{a] 60 - 100'C (b) KO . 100°C

(c] 40 - 60t (d)60- R0 °C

Which of the following s beth unit less and

dimensionless:

{al Angle {b} Sohd angle

] Mechanmical equivalent of heat

(d}] Refmactive index

The maximiem error in the measurement of mass and
length of the side of a cube are 3% and 2%
respectively. The maximum error in the measurcmen
of its density will be:

(3] 3% (b} 5% {c) 6% (dy9%

The area under the acceleration time graph represent:

(2] Displacement (b} Velocity

(e] Change n velocity (d) Distance travelled

Disillusioned with life in a communist country, he
to the wesl,

{b) travelled

{d) desened
1 then x =

{2] emigrated

{c] defected

If x+iy=(5=31) and y =
(a] {10, 198 {b)y{10, -198)

{c] (=10, +198) {d) {-10, -198)

|Z| = |—=Z|for a eomplex number Z, if and only il it
hold that (i) Z = -2

(i) Z=T (iii}Z=-Z (a) Only (i) holds

(b} (i) and {ii) both holds

fe] (i), {ib) and (i) holds

(d) Either (i) or (i) holds

I A = [}1] is a non singular matrix, then ) can takes

all the real values except for

(a1 0 2 (=3 (@32
The largest number of molecules are present in the:

(3] 22gof (¥, (b 6dgof &,

Scanned with CamScanner



184,

185,

186

187.

189,

190

192,

(c) Hgolf Ay (d)90gof AN,

A ceninpetal force F oacts on a body moving with
angular speedes. IF the angular speed is tnipled then
the magnitude of centripetal foree becomes;

(a) RF (b19F (c)IF (didF
Colowr  fringes observed in soap bubbles are the
example of

(a) Diffraction {b) Interference

(c) Reflection {d) Refraction

The product of pressure and volume has the same Sl
base units as

(a) Encrgy (b) Force

{c) Power (d] Heat copacity

Cannon had ~ unigue qualitics
used widely in anciend times,

il was

(a) such, so i) that, since
() that, thai {d) such, that

1£2lics in the 3* or 4™ quadrant, then sin® =

L+oand I—aal
o= [

I=conill

TN

If 8 < mr, then the relation between %undf is given

by
# =x [
(a)y =3 b3 <3
| ] L
(c)3 >3 ;=3
cansflsgon 18
gin% s 18
(a) sin2f {b) cosBA
ic) cotd i{d) tan8

Consider the NMowing reaction: 3Ag+HND ;=
JAgNO,y +NO4+H 0 select the true stnlemenl

{a) Silver i reduced (h) NO7 s oxadized 1o A2
i) Silver gains clecirons

{d} Nitrogen acecpis clectron

A fly wheels rotates ot a constant speed of 3000 rpm
(revimin|. The angle described by the shafl in radian
in one sccond Ia:

193,

194,

195,

197.

194.

199,

{al2x (h)30 m (ch 100 m (d) 3000
A ning and a disc have same mass and same radius, [F

we denote the moment of inertia of dise by J':{nm!
that of ning by I{rlhr:n:

(a] L de (b)) e ds

The pometual motion of the eanth as o twms on its
axis creales the chanpe of scasons,

(c) =4«

ZThe wnalerdiined ward meaine).
{a] ancicm { b} rhythmic
{e] leisurely {d) constam

If |£-'~Ifﬂ =l'|:'5— ‘ for two non zero veclors d and il
then it holds that

{a] & and b e perpendicular

(b) @ and b are parallcl

l:]inndinr: coplanar

Id) @ and E are nen coplanar

Lel (4o 5 ="t Ouadb s #M) shes 7

(b} -1 (dy -2

{a]l {e)2

i{mm-"i = when x <0

fal _ 1 (h)

=1 _ (c) _,I._-'
o F-] o Ll

Select the correct order in boiling point:

{dy _
_r_vq‘l+lF

{a] Butonal<2-Butanolk<2 Methyl-2-proponal

{b) Butanol<1-Butonol<2-Methyl-2-propanol

{¢) 2-Methyl-2-propanol< ] -Butanol<2-Butanol
(d}) 2-Methy k2 Propanak<2. Butsnoic<] - Bulonal
The carbon-carban triple bond length in acetylene is
(2] LO9A" (b) 1.119A"

] 139 A%(dy1.19A"

In Wurt =27 synthesis alkyl halide react with sodium
the solvent used is:

{a] Water

le] Pyndine

(b} Alechol
{d) Ether
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